510™ =
3 =
S 2
= 3
S
° S
It © 10
1072
10721
o ol _9106%_""!"""""""""!""
T r T r
[vd C 24 C
- - - H 144
0.05L : i i i i 0.5k ! i i i i
=3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—— DQM_V0001_R000000001__Global_CMSSW_orig
—— DQM_V0001_R000000001__Global__CMSSW_hpt08
—— DQM_V0001_R000000001__Global__CMSSW_hpt05
=~ Ir —
= [ S
) o o
2 C S
= =
N -
> L
(e
o L <1
o}

..............

-1 0 1 2 3
TP n (PCA to beamline)

LR
|
N

~ 1
2 :
a
o
9/ .
] : :

I 111 S
0100 | LR LA |
217 :

A ¥
1_— e H
0931 0 12 3

TP n (PCA- to beamline)

010% PO 1 O L RPN | PP
g C E
o [ N
1__....1 nmg:mnn

098321 0 1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


